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Grade 5

Logical thinking (7w duy Logic)

This section includes the 1st question to the 5th question. Each carries 4 points.
Phan nay bao gom tir cdu 1 dén cau 5. Mdi cdu 4 diém.

1. What is the value of the next number in the following sequence?
Tim sé tiép theo trong ddy dudi day.

A. 69

B. 75

C.73

D. 77

Key: A

2. In a car park, there are cars and motorbikes with 200 wheels altogether. The

number of cars is 20 more than the number of motorbikes. How many cars are

there in the park?

Trong mét béai dé c6 xe 6 td va xe may Vdi tong sé 200 banh xe. Sé liong xe 6 t6
nhiéu hon sé lwong xe may 1a 20 chiéc. Héi trong bai dé c6 bao nhiéu xe 6 t6?
A. 20

B. 40

C. 60

D. 80
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Key: B

3. According to the pattern below, how many ducks are there in the 8th group?

Dwa vao quy ludt duoi day, hoi ¢6 bao nhiéu hinh con vit trong nhom tha 8?
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A.54

B. 45

C.44

D. 55

Key: A

4. Today is Sunday, 12th December. Which day of the week is 2th February in

the next year?

Ho6m nay la Chu nhdt, ngay 12 thang 12. Hoi ngay 2 thang 2 nam sau la thir

may?

A. Thursday / Thir Nam
B. Tuesday / Thu Ba

C. Friday / Tht Sau
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D. Wednesday / Tht Tu
Key: D

5. Mother gave Alice a bottle of milk. In the morning, Alice drank one third of
the bottle. In the afternoon, Alice drank 150 ml of milk. In the evening, Alice
drank one half of the remaining milk. Mother noticed that only 50 ml were left
in the bottle. How many milliliters of milk are there in the bottle in the

beginning?

Me cho Alice mét chai siza. Buai sang, Alice usng mét phan ba chai sira. Budi
chiéu, Alice uéng 150 ml siza. Buai toi, Alice uong mét niza lirong siza con lai.
Me thdy rang cudi ciing trong chai con lgi 50 ml. Héi Lic dau trong chai c6 bao
nhiéu mi-li-lit sira?

A. 375 ml

B. 750 ml

C. 400 ml

D. 600 mi

Key: A

Arithmetic (Sé hoc)

This section includes the 6th question to the 10th question. Each carries 4
points.
Phan nay bao gom tir cdu 6 dén cau 10. Méi cdu 4 diém.

6.

Find the valueof 11+14+17+20+ ...+ 86+ 89.
Tim gia tri cua 11+14+17 + 20+ ...+ 86 + 89.
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A. 2700
B. 1250
C. 1300
D. 1350
Key: D
1.

Find the value of 50x18 -25x32 +75x15-44x25.
Tim gid tri cua 50x 18 —25x 32 +75x15—-44x25.

A. 100
B. 125
C. 250
D. 75
Key: B
8.

Find the value of S, given that S=3+6+12+24 + ...+ 3072.
Tinh gia tri cua S, biét rﬁ“ng S=3+6+12+24+...+3072.

A. 6141
B. 6143
C. 9213
D. 9215

Key: A
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Calculate —: 2 +
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A. 9/56

B. 2/7

C. 21/32
D. 7/6

Key: D

10.

2 2 2 2

+ TR 7 + :
4x6 6x%x8 16 x18 18x20
2 2 2 2
+ +...+ + )
4x6 6x8 16 x18 18x20

Find the value of

Tinh gia tri ciia

A. 3/10
B. 1/5
C. 1/10
D. 2/5

Key: B

Number theory (Ly thuyét sé)

This section includes the 11th question to the 15th question. Each carries 4
points.

Phan nay bao gom tir cdu 11 dén cau 15. Méi cdu 4 diém.
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11.

Define the operation symbol a®b = (b +ax4)—(a+b), find the value of (2®3)® 4.
Dinh nghia ki hiéu phép toin a®b = (b +ax4)—(a+b), tim gid tri clia (2®3) @ 4.

A. 27

B. 18

C.24

D. 12

Key: B

12. A white bag contains 30 kg of rice and a brown bag contains 42 kg of rice.

Oliver poured rice from the white bag to the brown bag until the weight of one

bag doubles the other. How many kilograms does the brown bag weigh finally?

Bao tdi mau trang chiza 30 kg gao va bao tdi mau nau chira 42 kg gao. Oliver
d6 gao tir bao trang sang bao ndu den khi can ngng cia mgt bao gao gdp déi
bao con lgi. Héi cudi cling bao nau ngng bao nhiéu ki-16-gam?

A. 36 kg

B. 60 kg

C. 48 kg

D. 24 kg

Key: C

13.

If 7-digit number A12345B is a number divisible by 18, find the maximum value of A - B.

Néu so'co 7 chiv s6° A12345B la mot s6 chia hét cho 18, tim gid tri lon nhdt cua A - B.

A.3
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B.4
C.5
D.6
Key: B
14,
Find the last digit of 33x 33x33x...x33x 33 (123 numbers 33).
Tim chit s6'tdn ciung cua 33x 33x33x...x33x 33 (123 s6'33).
A7
B.3
C.1
D.9
Key: A
15. Henry wants to divide his marbles equally but he has a limited number of
bags. If each bag has 4 marbles, he will have 22 marbles left. If each bag has 7

marbles, he will have 4 marbles left. How many marbles does Henry have in

total?

Henry muén chia déu sé bi ciia minh nhung sé hrong tli cia anh dy co han.
Néu mai tdi ¢d 4 vién bi thi anh dy con thiza 22 vién bi. Néu mai tdi c6 7 vién bi
thi anh @y con thira 4 vién bi. Héi Henry ¢ tat ca bao nhiéu vién bi?

A. 38

B. 37

C. 42

D. 46
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Key: D

Geometry (Hinh hec)

This section includes the 16th question to the 20th question. Each carries 4
points.
Phan nay bao gom tir cdu 16 dén cau 20. Méi cdu 4 diém.

16. A rectangle has a perimeter of 40 cm. When its length increases by 5 cm, the

area will increase by 40 cm2. Find the area of the original rectangle.

Mgt hinh chiz nhdt c6 chu vi 40 cm. Khi chiéu dai cia hinh ché nhdt ting thém
5 c¢m thi dién tich hinh chiz nhdt tang thém 40 cm?. Tinh dién tich cua hinh chir

nhdt ban dau.
A. 256 cm?
B. 136 cm?
C. 96 cm?

D. 56 cm?
Key: C

17. How many rectangles are there in the figure below?

Hoi co bao nhiéu hinh chiz nhat trong hinh dudi day?
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A. 100

B. 16

C. 36

D. 200

Key: A

18. Jack combines 1 cm x 1 cm squares to make a big rectangular paper. If the

area of the paper is 50 cm?, find its greatest possible perimeter.

Jack ghép cac hinh vudng 1 cm x I ¢m dé tao thanh mét to gidy hinh chiz nhdt
lén. Néu dién tich cua to gidy 1a 50 cm2, tim chu vi Ién nhdt c6 thé cua to gidy
do.

A. 100 cm

B. 102 cm

C.30cm

D. 156 cm
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Key: B
19. Nine squares are combined to get a big rectangle with a perimeter of 90 cm

as below. Find the area of the big rectangle.

Chin hinh vuéng dwroc ghép lai dé tao thanh hinh ché nhdt 1én ¢6 chu vi 90 cm

nhw hinh dwdi day. Tim dién tich cua hinh chaz nhat lon.

A. 360 cm?
B. 180 cm?
C. 1800 cm2
D. 450 cm?

Key: D

20. Some small cubes with side length 2 cm are placed on top of each other to

form the figure below. Find the smallest possible volume of this figure.

Cac khoi ldp phirong nhé cé dé dai canh la 2 cm dwoc xép chong 18n nhau tgo

thanh hinh dwéi ddy. Tinh thé tich nhé nhdt cia hinh do.
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A. 168 cm3

B.76 cm?3
C.152 cm3
D. 84 cm3

Key: A

Combinatorics (Té hep)

This section includes the 21st question to the 25th question. Each carries 4
points.
Phan nay bao gom tir cdu 21 dén cau 25. Méi cdu 4 diém.

21. A flight of stairs has 9 steps. Wendy can go up 1 step, 2 steps or 3 steps each

time. How many ways are there for Wendy to go up the stairs?

Mgt cdu thang c6 9 bdc. Mdi lan buéc, Wendy c6 thé di Ién 1 bdc, 2 bac hodc 3

béc. Héi c6 bao nhiéu cich dé Wendy di hét cau thang?
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A. 125
B. 129
C. 145
D. 149
Key: D

22. A box contains 100 marbles in 3 colors: blue, black and white. There are 50
blue marbles and 40 black marbles. At least how many marbles should be drawn

at random to ensure that we can get 30 marbles of the same colour?

Mgt chiéc hgp 6 100 vién bi gom 3 madu: xanh, den va tring. Trong dé c6 50
vién bi xanh va 40 vién bi den. Héi can ldy ra ngau nhién it nhdt bao nhiéu vién
bi dé chdc chdn rang ta ldy dwoc 30 vién bi cing mau?

A.70

B. 69

C. 60

D. 59

Key: B

23. How many 4-digit odd numbers with different digits are there so that the

number is divisible by 5?
Hdi c6 bao nhiéu sé 1é ¢6 4 chir sé6 khac nhau sao cho sé dé chia hét cho 5?

A. 448
B. 504
C. 336

D. 360
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Key: A
24. A class has 10 girls and 12 boys. Teacher wants to choose 2 students with

the same gender to compete in a race. How many different ways of choosing are

there?

Mgt 16p hoc ¢6 10 ban nir va 12 ban nam. Cd gido muan chon ra 2 hoc sinh c6

cling gidi tinh dé chay dua. Héi ¢6 bao nhiéu cach chon khéac nhau?

A. 122

B. 120

C.111

D. 222

Key: C

25. In a game, a character must move up or move right to the adjacent cell.

Given that he cannot pass the cells with a wall, how many different ways are

there for the character to reach the treasure?

Trong mét tro choi, nhdn vat phdi di chuyén 1&n trén hogc sang phdi dé téi 6
lien ké. Biét rang anh dy khong thé di qua cdc 6 ¢é tirong, héi nhan vt ¢ bao

nhiéu cach khdc nhau d@é \dy dwoc kho bau?
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A. 17
B. 18
C.19
D. 20

Key: A
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